Key Stage 2: Year 6: Adding and subtracting fractions with different w
denominators

R 16. 2 -1 -
2. %+%= 17. %_%=
R 18. - -
b o= 19, -3 -
5. %+%= 20. %_%=
6. ++o= 21, 4 -1 -
7. S+ 22. 5 -3-
8 4ta- 23. -4 -
9 ot 2. - =
10. - +7= 25. - -4 -
11, 2%+%= 26. 2%_%=
12, 2 +14 - 27. 34 -4 =
13. 22 +2 - 28. 2L -1+ -
14, 35 +14 = 29. 54 -2 -
15. 24 +1-> - 30. 45 -22 -
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Key Stage 2: Year 6: Adding and subtracting fractions with different w
denominators

3. 2+ 46. 25 -+ =
32. -4- 47. 3% -1 -
33. %—11—2= 48. 3%+%=
3. S+ - 49, —-+24 -
35. L+ - 50. 35 +15 =
36. o+ - 51. 24 -1 -
37. +-=- 52. & +25 =
38 = - - 53. 15 -~ -
39. 4+ - 54. 4o - 15 -
40. <5 - = 55. 3> -1 =
4. S+ - 56. 14 +20 -
42 o+ = 57. 34 +1%-
43. = - 58. 64 -32 =
44, S +2- 53, 22413 -
45. S+ = 60. 64 -3 =
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Name: Date:

Adding and subtracting fractions with different denominators

1 5 _
1 7+?_
2 3 _
2 |53*% -
5 1
3 3T+7_
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3 3 _
3 4T+2E_
1 2 _
6 67"‘3?—
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Answer Sheet: Key Stage 2: Year 6: Content Practice Questions

ar

Number: Fractions: Children will add and subtract fractions with different denominators and
mixed numbers, using the concept of equivalent fractions.

question answer marks
1 13-
2 1+
3 122
4 1=
5 5
6 1=
7 14
; i
: 5
10 =2
l 22>
12 1%
13 3L
14 43
15 32
16 3=
17 -
18 -
19 =
20 2
21 -
22 -

question answer marks
23 - 1
24 - 1
25 = 1
26 1= 1
27 23 1
28 12 1
29 2L 1
30 1= 1
31 1 1
32 = 1
33 - 1
34 L 1
35 15 1
36 Iz 1
37 < 1
38 = 1
39 - 1
40 = 1
41 3z 1
42 = 1
43 iz 1
44 1= 1
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Answer Sheet: Key Stage 2: Year 6: Content Practice Questions

ar

Number: Fractions: Children will add and subtract fractions with different denominators and
mixed numbers, using the concept of equivalent fractions.

Worksheet answers

question answer marks
1 1+ 1
4
2 1 5 1
3 41 1
4 1= 1
1
5 7 20 1
6 10— 1
Total 6

question answer marks
45 =
46 1=+
47 2
48 4>
49 355
50 42
51 222
52 355
53 =
54 2%
55 2>
56 4=
57 522
58 2>
59 4L
60 2=

Total 60
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